
Daily Word Problem

Name: 
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answer: ____________________

Rylee drew a square.
Then she drew a rectangle in the middle of it.
Use the diagram below to help you find the area of the 
shaded rectangle.

Show your work.

C-141 Area;
Operations

Multi-
Step

9 cm

3 cm

3 cm

2 cm 2 cm

___ cm



Daily Word Problem

Name: 
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answer: __________________________________________________
__________________________________________________________
__________________________________________________________

Carson says that he cannot find the perimeter of the regular 
pentagon below because he only knows the length of one 
side. Jace says that the perimeter is 40 cm because 8 × 5 = 40.

Who is correct? Why?

C-142 Perimeter

8 cm



Daily Word Problem

Name: 

Super Teacher Worksheets - www.superteacherworksheets.com 2 0 0 3 3 7

Piper, Easton, and Luis all brought the same number of 
crackers for snack. Piper ate 2/ of her crackers, Easton ate 
5/ of his crackers, and Luis ate 2/ of his crackers.
Who ate the fewest crackers for snack?

answer: ____________________

Show your work.

C-143 Fractions
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Daily Word Problem
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answer: ____________________

Naomi bought 3 boxes of thank you cards. 
Each box had 8 cards. 
Naomi put all the cards together and then split them into 
groups of 6.
How many cards did she put in each group?

Show your work.

C-144 Operations Multi-
Step



Daily Word Problem

Name: 
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Mr. Bell’s class is growing plants. 
The line plot below shows the height in inches of the plants. 
Use the data from the line plot to answer the questions.
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1 1 1 1 22 22

How many plants did Mr. Bell’s 
class plant?		  _______________________

Which height occurred the most?		 _______________________

How many more plants are 1 inch  
tall than 2 inches tall?	 _______________________

C-145 Reading and Interpreting 
Data on a Line Plot



Daily Word Problem

ANSWERSC-141 through C-145
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Mr. Bell’s class is growing plants. 
The line plot below shows the height in inches of the plants. 
Use the data from the line plot to answer the questions.
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1 1 2 2 21 1 2

How many plants did Mr. Bell’s 
class plant?		  _______________________

Which height occurred the most?	 _______________________

How many more plants are 1 inch  
tall than 2 inches tall?	 _______________________

answer: ____________________

Naomi bought 3 boxes of thank you cards. 
Each box had 8 cards. 
Naomi put all the cards together and then split them into 
groups of 6.
How many cards did she put in each group?

Show your work.

Piper, Easton, and Luis all brought the same number of 
crackers for snack. Piper ate 2/ of her crackers, Easton 
ate 5/ of his crackers, and Luis ate 2/ of his crackers.
Who ate the fewest crackers for snack?

answer: ____________________

Show your work.
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answer: __________________________________________________
__________________________________________________________
__________________________________________________________

Carson says that he cannot find the perimeter of the regular 
pentagon below because he only knows the length of one  
side. Jace says that the perimeter is 40 cm because 8 × 5 = 40.

Who is correct? Why?

8 cm

answer: ____________________

Rylee drew a square.
Then she drew a rectangle in the middle of it.
Use the diagram below to help you find the area of the 
shaded rectangle.

Show your work.
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             Jace is correct because a regular  
polygon always has equal sides. All of the sides 
on the pentagon measure 8 cm. 5 × 8 = 40 cm.

3 × 8 = 24
24 ÷ 6 = 4

inches11 2


